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Seminal vesicles

Q5 zZat 3T 3% ZEw S W Tneatew afEe #F g §

wAF oW |l |9 eftew | Iew
o
1 A | 40 |37 35 | 27
2 | B | 6 |28] 78 | 8
3 C | 8 |7 4 21
4 | o] 1]72] 3 | n

fow 1w siwst & wum 9, 9 v sENEEE B EE i

Parties and the seats won by them are listed in the following table.

5. No| Part | Sout | East | West | North
¥ h
1 A 40 37 35 27
2 B 6 26 T6 86
3 C 33 i 4 21
4 D I 7 3 11

Based on the given data, the total number of candidates electedis .
Ans of 1534
X 2543
X 3 524
X 4 535

Question 1D : 9864494025
Status : Not Answered
Chosen Option : -

QF fedr s R on iR dd e o m I Ao & e o= &
w7

One of the largest sall deserts in the world, the “Rann of Kutch® is primarily located in
which state of India?

w8 AqeT gau
X1
Madhya Pradesh

2 1
Gujarat
X s

Assam
EEOICH

P
Telangana

Question I1D ;9864492138
Status : Answered
Chosen Option : 2

Q.7

Question 1D : 9864494008
Status : Answered
Chosen Option :3
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A B C D
Select the option that will correctly fit in the blank space in the following figure.
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L

L

-
—|J

Q.8 far s e B (Problem Figure) @5 & 307 RSt (Answer Figures) &
# g v & wieafes §1 57 =07 =9 (Answer Figure) & mg= 541

Problem Figure

\. /

)

Answer Figares

A

Problem Figure - maem R

Answer Figure - Foa7 faw

The given Problem Figure is embedded in one of the given Answer Figures, Which is that
Answer Figure?

Problem Figure
N

/

Amswer Figunes

A

Ans ?{1[}
vzA

Cuestion |D : 9864494106
Status : Answered
Chosen Option :3




XsB
XscC

Q.9 RBVSEWNMIWIBCOHBZASMS
FH T yEH # A0 O § aNEd e & gf d # AW P o am
el

RBT7TIESMIWASOOEBIASMS
In the above sequence which term is third to the right of the twelfth term from the left
end?

Ans

X1 H
X22
X3 A
v+B

Question ID : 9864493813
Status : Answered

Chosen Option -4

Q10 ofy g 1 g8 @ & o F AIFA IHH T F IO A E
The area of a square is equal to its side, if the side is 1 unit.

Ans

v FHem
Always
X2 Fofr 78T
Never
X3 -
Sometimes
0
Often

Cuestion 1D : 9864493765
Status : Answered

Chosen Option :1

Q1 1o e WS FT ST 196 T3 HN2T | FHE Tl 3= 1 w0
The area of the square field is 196 sq.m. Its each side is:

Ans

v WA
14 m
xz_lﬁfﬂﬂ
16 m
x 3 137
13m
X4.17m
17m

Cuestion |0 ; 9864492440
Status : Answered

Chosen Option : 1

Qi2@=F o7 +ax + bW ARy + 3 F Pafem fer = A dw - 1 T
Far ¥ s smwE of ¢ by 4 oo 7 - 3 F TenfEw B wr AT Aw 39
T @ # o + b WA W

x* + ax + b, when divided by x + 3, leaves a remainder of — 1 and x* + bx + a,
when divided by x = 3, leaves a remainder of 39, thena + b=7

Ans

x< 138
X2-14
Xa-38
v'i14

CQuestion |0 : 9864492696
Status - Mot Answered

Chosen Option ; -

Q13 g & w@faE 2017 aAfgen g ot &9 e e o
Who won the 2017 Women's Hockey Asia Cup held in Japan?

Ans
1 Zieor S
South Korea

Question 1D ;9864492249
Status - Answered

Chosen Option : 2




253

T

X4 Japen

Q14 oify 1 9geT HHET, FEE 9 FEy ot &
The first equation of motion gives the relation between:

A x1éﬂ3ﬂtm

velocity and acceleration

, fofa 3k ww
position and time
> T 3R TET
velocity and time
, Feufer 3k aer

position and velocity

X

X

Question 1D : 9864493340
Status : Answered
Chosen Option : 3

O R T # A e e gl I

Problem Figure

A B C D

Choose the correct figure to fill in the blank space.

Problem Figure

o

— ":

N

Answer Figures

oo

A B C D
Ans X1 B

VA
Latest Sarkari Jobs, Govt Exam Results, m
x 3 C Vacancies and updates on one click

Question 1D : 9864493729
Status : Answered
Chosen Option : 2




X4+D

Q.16 7 ey 54 fah cewnt & O & e & aema f@o 30° an afg dar @
e FT gl 5043 Aer @ & ot fr Fad B ofr?

From the top of a platform 7 m hagh, the angle of elevatron of a tower was 309 If the
platform was positroned 5043 m away from the tower, how tall was the tower?

AN 3 (25V3 + 7) Hiex

Question 1D ;9864492998
Status : Not Answered
Chosen Option : -

(253 + 7)m
Hex
v: 25v3
253 m
x 3 90 #Hex
50m
x4 57 #Hiex
57Tm
17 2 3R 98 & drar ALATEE T AT Question 1D : 9864482625

Find the mean proportional between 2 and 987
Ans 2 1 13
X 2145
vil4
X 416

Status : Answered
Chosen Option =2

Q.18 Rz, 2017 # Bkt T & T W & w9 B P e 2

Who has been appointed as the Chief Secretary of the Delhd Government in December
20177
Ans

x1_3=r|a;ra=|rm;r

Akansha Ranjan
v Y T

Anshu Prakash
3 wfesw a9
Aditya Negi
ST I8
Ajeet Vasant

X4

CQuestion |D : 98644924356
Status : Answered
Chosen Option :3

Q18 e 3=, faw = 3l F EIA B
Mechanical energy is the combination of kinetic energy and ;

e v e s

Potential energy

Xz ﬂ
Nuclear energy

x 3 wrafas Far
Chemical energy

X 4 FEHT FAT
Heat energy e

Question 10 : 9864493562
Status : Answered
Chosen Option 1




QR vUT s UuUwWHE s X usmsREFAvm v aFT
Ty &7
If V' is the brother of U, U is the sister of W and X is the husband of U, then U is V's

Question 1D ;9864493832
Status : Answered
Chosen Option : 3

Ans L)
s
Mother

QWIMI@IEWIWIHQ

Aunt
i
Sister
x o A/ sl \RN FASTAY AT

Sister-in-law

X

Q.21 Fatafas & & awe #ftass & g feew &t @ i s Tt & 5w

g &7
Which of the following is the main thinking part of the human brain?

Question 1D ;9864493276
Status - Answered

Ans 5 Chosen Option 21
A e AfETsH

Mid-brain

X 2 afEeH
Cerebellum

v 5 ATETsH
Fore-brain

TR e
Hind- brain

Q22 zg fawey =1 IUA FT S & 7€ gy A Py Fr gwm zeier Question 1D : 9864494061

Status : Answered
Chosen Option ;1

Select the option that represents the number of triangles in the given figure is,

ans X111
X28
V310
X4+9

Q.23 Foafafaa # @ =t & dofas a & ymfie woft & @ swedor 7 e ; ;
¥ aa ¥ Tt w67 o Frm R 37 Question 1D : 9864493405

Status - Answered
Whach of the following scientists gave the law that governs the force of i
attraction repulsion between two charged particles? Chosen Option 1

Ana , HAFel B2

I\I'IlCha.El Farad-ﬂ.}f Latest S_quari Jobs, Govt Exam Re_sults, m
Vacancies and updates on one click




ared el

¥ &
Charles Coulomb
X 3 snfefAde
Archimedes
X4 5
Charles Dufay
O 4624 37&11? fraar g Question 1D : 9864492903
The square root of 4624 is: Chosen z:t: ;:nsmd
Ans x 1. B4
v 68
X372
X 4 66
Q25 e o F TED ELD T e o7 | Question ID : 9864493461
Status : Answered
ey €1 R g% W fonl w=er ¥ Chosen Oplion :4

Fill in the blank with the most appropriate option.

The pitch of a sound depends on its
Ans HOTH
1 amplitude
o
timbre
| S
wavelength

vy e

frequency

52

X

Q.zsmwnmu#mﬁamgﬁmnﬁﬁxwﬂaﬁa:wmmﬁ
e i WEAT == T AT
Which Indian stock exchange is planning to lausich its own Initial Public Offering (IPO)?

i x ; TRIS F=0 T T (THHTHs)
Saurashtra Kutch Stock Exchange (SKSE)
| I i TS (ITEs)
Cochin Stock Exchange (CoSE)
' AT TETF TFHIS (TATHS)
National Stock Exchange (NSE)
. I T FEE (fleas)
Bombay Stock Exchange (BSE)

x

v

X

Cuestion ID ;9864492388
Status : Answered
Chosen Option : 4

Q.27

CQuestion |0 : 9864493032

Status : Answered
Latest Sarkari Jobs, Govt Exam Results, m i
Vacancies and updates on one click in Oplion -2




Ans

uiEd A, B AR C v @t e A o gu §1 v &) wey s 4 3l 10
HE A TR B wE B SarE sl g o W et e a6 ue A
arelr T Rran S f) o el e gy SR w0 U5 s s B Ot T
o E S, A S Y e & e feee g o

Pipes A B and C are attached to an empty cistern. While the first two can fill the cistern 1n
4 and 10 hours, respectively, the third can drain the cistern, when filled, in 6 hours. 1f all
the three pipes are opensd simultanecushy when the cistern is three-fifth full, how many
hours will be needad to fill the cisiern?

x136

11

4!,) 24

1

Xa 48

11

€8

11

Q.28 fomr 3 ¥ forw Tlmrdr @ = @t & soRwuERE T TH TR sTEE

Ans

P &7
Which of the following sportspersons recently wrote the avtobiographical book *Ace

Against Odds'?

CQuestion 1D : 9864492383
Status : Answered
Chosen Option -4

Q.29

Ans

afE A=(-14+4)HRB=4- 14 AAB=

If A=(—14+4) and B =4—14,then AB =
v i

Question 1D : 9864492544
Status : Answered
Chosen Option : 2

X 2100
N -1
X 4 -100

Q.30

Ans

o 7% = fam w1 o Ao = B oES sur &t o seumon w3
G o
= TR A

Question 1D ;9864493644
Status : Answered
Chosen Option : 2

U

1. &= #@FEn §
2. W= EE R
Consider the argument and dacide which of the given assumptions is/are mphcit,

Argument
Today is Sunday

Assumption
1. Tomomow is Monday,
2. Today is a holiday,

x1m$§mﬁza#;d?m%l

]}F assL "]ptl: n 2 Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click




{_Imm1 FHEIA g

Only assumption 1 follows

s 3T 2 gt aFETT §
Both 1 and 2 follows

x o A1 AR T & 2 aEFES B
Neither 1 and 2 follows

O Gz @ T A,

78 + [ {27 + (18 + —2)} FT— 4+ (-3)] =2
Solve the following.

78 +[-4+(-3)of {27 +(-18+-2)}] =7
Ans "’1 -5

X213

X36

X 4156

CQuestion |0 : 9864492779
Status - Mot Answered
Chosen Option ; -

Q.32 fro 7T STl WY AN T o9 AT O% 9w & T S o () e
Fadl & FEEH ¥ ® e (F 8) w6

T
o Wi e §) W A g

e

1. §o wind o &
2 50 = v §

Consider the given statements to be true and decide which of the conclusions Logically
follow(s) from the statements.

Statement:

Some angels are gods.
All living being are gods.
Conclusions:

1. Some angels are living beings.
2. Some living being are angels.

Ans s 1 3 2 @&t IFETT #d B
Both 1 and 2 follow.
o & frF 2 FFEOT Fa 2
Only conclusion 2 follows.
o Faer Ay 1 FFETOT FIAT ¢
Only conclusion 1 follows.

n A 2 @t e A F €

Nether 1 nor 2 follows.

v

Question ID : 9864493951
Status : Answered
Chosen Option - 2

Q.33 )
Question 1D : 9864492606
Latest Sarkari Jobs, Govt Exam Resullts, Status - Answered
Vacancies and updates on one click m i
Option :3




Ans

o ffor e o s sF afm s s W A o d e oo e 2

5,250 §| FAT ¥ & T e £ AW & I FE UROi & St e
T Frem

Simple interest on a certain sum of money for 3 years at $% per annom {5 T 5250, What
will be the compound interest on that sum at the same rate for the same period?

X 1.T5517.88
X 2 ¥5,510.88
X 3375512.88
W ¢ ¥5516.88

Q34 1,0, +C; - 2HC + O, 3IRFET &, 10, s T A FAFT

Ans

In the reaction HyO; +Cl; = ZHCI + Oz, H20; acts as:

x1_ua:3rﬁ=,¢hm

Question 1D ;9864493130
Status : Answered
Chosen Option 12

an oxidising agent
X 2 Teh HFoT

an acid
Tsh 8317

a base
Teh HYI{h

a reducing agent

<A

o

Q.35 #rd T wuw ® wew A gw o fave wh R sw Rt e @ O

Ans

fow gv #ia & frewd fwrt 51w

Question 1D : 9864493743
Status : Answered
Chosen Option -4

Ut T aEmT aeaEra £
Ty g @ &

forew:
1. waf @i = avders §I
2. e gfvEE §

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Siatements:
Do 15 & good batsman.

Basmen are smart.
Conclusions:

1. All smart people are batsmen
2. Dhom 15 smart.

G
Far 13k T & 2 sgEor Far &

Neither 1 nor 2 follows
1 3R 2 f srepERor R §
Both 1 and 2 follow
Fael fAsHy 1 HFEIT FT §
3

Only conclusion 1 follows

Fael forSHY 2 ITETOT HAT §

X

X

v

&4
Dnly c Dn'c lu SIDI Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click
[r———




Q.36 X wmér Tamy afdvor #r 07 30 Freder e §, st o A 30
frsireT it ot & g andt A HEET w20 famiier s oot g
= FEeT A 30 frEefer S #1 X e wieE e # e e gl
w ¥

Question 1D : 9864494137
Status : Answered
Chosen Option : 1

X drives 30 km south, then turms right and drives 30 km, then fums left and drives 20 km
and then turns left and drives 30 km. How far is X from hisher initial position?

Ans o1 B0 fRaTHEET
X 2 30 fFarHARET
X 3 60 FerHAET
X 4 20 fEeET

Q.37 =% 2017 & gt & @ e A & HgEmES & w9 & FwR TR G
L]

Who ook charge as the Chief Minister of Goa after the 2017 elections?

Question 1D : 9864492297
Status : Answered
Chosen Option 3

Ans ml. qﬁ'ﬁ
v g
Manohar Parrikar
*'s. T 9T e
Bharat Vir Wanchoo

| ETE AR
Dayanand Narvekar

x ;T ST

Churchill Alemao

X

038 v v FERT AP F HUR W HURUT 0w I

Question 1D : 9864494180
Status : Answered
Chosen Option ;1

@ : Bunch:: m i

Bunch - &=
Select the missing term based on the given related pair.

Ans F13%

A MA_T T I HET &
The missing letter in the word ‘MA_T" is:

Question 10 : 9864493913
Status : Answered
Chosen Option 31

Ans ¥~, R

x > C Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click




X0
Xop

Q.40 T el x4 2y - 8 = 0T 20 + 4y = Lo F IR F IR Fr A=

The numbser of sohations of the pair of linear equations ¥ + 2y = 8 = 0 and 2v + 4y = 16 s stion 1D :98 515

Status : Answered
Ans of 1.0 Chosen Option - 1

X222

X 3
Infinitely many

5 al

Q41 forer # & #l7 W Sw Gee 3T FHEE (regeneration and budding) ZETT
Tt F T §7
Which of the following organisms can reproduce by regeneration and budding?

Ans THT

Question 1D : 9864493297
Status ; Answered
Chosen Option -1

51
Yeast
CATSAISTH
Plasmodium
Rciey
Planaria
el

4
¥ Hydra

X 2

X3

Q42 By F ¥ FiT T v AT BT T T FE 2 Question 1D : 9864493613

Which one of the following is not a borderline element? Status : Answered

Chosen Option : 1
Ans 1 e
Boron
fafowa
Silicon
[Ep=2by

Bismuth

qrefaad (Polonium)

Polonium

> 2

e

754

43 J
Q.43 FErmmt # Atag f=e & Fne A e 3 R/ 309 w1 A Qluestion 1D - 9864493066

t? -
The vast amount of sea weeds present in oceans may produce an endless sousce of: Status : Answered
Ans Chosen Option : 2
;TR T Tl
Sea wave energy
e
W2
Methane
X o FEHER ardrr F=r
Ocean thermal energy

x 4. Latest Sarkari Jobs, Govt Exam Results
Vacancies and updates on one click
Nuclear energy




Q44 geafaEw H SE T Al F TTF

VIXY
0T
.ﬁL
TR

A B C D
Choose the correct figure that replaces the question mark.

)}
8

?

g

| X

v
L
F

2
vicC
X4A

i 1 5
A;CD
D

Ans O 4
x

Question ID : 9864493879
Status : Answered
Chosen Option :1

Q.45 2017 # gofie sEtT 36 sy e e e S dow S B
Who is the author of the Indian English Novel “When Dimple Met Rishi® published in

20177
Ans m
< E
Rahul Mehta
v g AT
Sandhya Menon
x 3 AT I
Chetan Bhagat
X 4 =Y ==
Nidhi Chanani

Question 1D ;9864492181
Status : Answered
Chosen Option : 3

Q46 (2,14,16), (3,21,24), (8, 56,64), (5, 35, 41)
¥ar A S B oEg @ dey o @ ¥, 3w b

(2.14,16), (3,21,24), (8, 56,64), (5, 35, 41)
The set that does NOT belong to the group is:

ans X 1 (2,14,16)

v |
J - (51' 35! 41 } Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click

Question 1D ;9864493865
Status : Answered
Chosen Option : 2




X 3 (3,21,24)
X 4 (8, 56,64)

U Crafafla # ¥ FiF W U uAET 27 Question ID - 9864493528

Which one of the following is a cation? Status : Not Answered

- Chosen Option ; -
Hydroxide
X, TEE
Nitrate
AT
Ammonium
Frafee
Carbonate

W

.

Q.48 vs s o faws s & B 3 s & T | & e

o W & A & aE ) o A w e & et e s e Cluestion |D : 9864492654
= Status - Answered

The volume of a right circular cone, with a base radius the same as its altinsde, and the Chosen Option =1

volume of a emisphere are equal, The ratio of the radii of the cope to the hemisphere is:

Ans x-| ﬁ=1
X233:32
‘!3?\&:1
X42:1

Q.49 fefafas oF &=t 98 T F =
st =7 e & 3 fomgen § Question ID - 9864494202

Sales of Bikesin |ndu up-n- the Colour in Status : Answered
Chosen Option ;1

LY

T 1 - - | I I
lilziinlll

Bt erem Golbcs Bewwn  Bleth  wiver Wl Bl Telbw

afy 2009 # AT & T F g f vk g7 B 10000 &, Froat
1 & gae A 9 o fr Arranteg e aftw oo O

Study the following graph and answer the question that follows.

Sales of Bikes in India as per the Colour in
2009

ahn

iy
1w
Lol
il !
Bk b Whie  Bed Tellew

5%

1™~ - P
lil:

]
Bier  Quwws Soige s Bewas

If thee total aumber of bikes so0ld in 2009 was 10000 how many more yellow bikes were
s0ld than green ones?

ans o 1200
X 2 2000
X 31000
X + 800

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click
Q.50



Ans

T T

B AT A 3 A A R ER F i e e & e

Zam oy At A Rty e F v Rm e A s e wm e E A
T fiwt & o s wware g

Surya works 3 times as fast as Ramya and is ablé to complete a work in 40 days less than

CQuestion ID : 9864492508
Status - Not Answered
Chosen Option ;-

the number of days taken by Famya. Find the time in which they can comgete the work

together.

.

>z

753

v

20 &=
20 days

30 f&ar
30 days

25 e
25 days

15 &=
15 days

Q81 geraur aca Far AT 72
What are transition elements?

Ans

G

Question 1D ; 9864493414
Status : Answered
Chosen Option :1

ag ded, et arget 3k A argan, e & aor
Elements which possess properties of both, metals and non-metals

-

X3

g1 Fad ARl Ao A o g @ §

They have eight electrons in the outermost shell

ag dca, [oas i a9y aRd 99 N g §

Elements whose three outermost shells are incomplete

v e

ag dcd, e gf ey JRd A I gd ¢

Elements whose two outermost shells are incomplete

% wep A uTg TohwehT Tk 3ETEROT &

An alloy 1s an example of:

Question |D : 9864493171
Status : Answered
Chosen Option -1

e . fafaer AT
Heterogeneous mixture
x , DTS e
Colloidal solution
v o faeE
Solid solution
X4 qaH
Emulsion
Q.53

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

Cuestion 1D 9864494113
Status : Answered
Chosen Option 3




forratafie =er RSt (Answer Figures) & & stw Toew & (Problem
Figure) 57 7 =i sfafesr &2

Problem Figure

34| §

o 1¥ 10233

Problem Figure - Foeam T

Answer Figure - 307 =
Select the correct mirror image of the Problem Figure from the given Answer Figures.

Problem Figure A
S
Anzwer Figures

3t ¥ <35

B C D

A
Ans ?(15
X2D
vs3C
XA

Q.54 gy 833749502 # 4 #T 2 F e AW @ AT B
The difference between the place values of *4” and *2" in the oumber E33 7495032 is:

Ans - X 1.30098

Question 1D
Status

- 9864494340
cAnswered
Chosen Option :

v 2 39998
X 3 49998
X 4 39098

Q.55 e AT ATE T A A 1 2F) 7 TG O H 3 - 5 {0 A
g

Ages of Laly and Balu are in the ratio of 1 : 2. After 7 years their ages ratio changes 1o 3
5. The elder person age i5:

Question 1D
Status

Chosen Option :

- 9864492565
:Not Answered

Ans 1 24
X232
v 28
X 420

Q.56 zw Hrafime M= g F @@ S & O we W Ot e A 7
Which compound is formed when a Magnesium ribbon is burmt in air?

e i He=ifRras arseEs

Question 1D
Status

Chosen Option :

. 9864493389
s Answered

Magnesium Nitride

Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click




 HIARIHE 3erTEE

h Magnesium Oxide

: HvARw AEee
Magnesium Nitrate

) HArAfaw FEfae
Magnesium Carbonate

v

x

X

Q.57 =l P &7 U 30 AR BISEE ST T TOiF & AU S
¥ Foger 3t o & sunt F Feve SR & e = g
The base of a triangle is half the base of a parallelogram having the same area as that of
the triangle. The ratio of the comesponding heights of the triangle to the parallelogram will

Question |1D ;9864492735
Status : Answered
Chosen Option : 2

e

Ans C1.2:1
X21:4
Kai:2
via:1

Q.58 =3 fawe = ga &1 o e R & onh =g @ w6 g @ e g
gl

Question 1D : 9864494377
Status : Answered
Chosen Option =2

Ans

Q.59 ofy ot ¥ urg A, urg B # wwRE S § @ wg A I
If Metal A displaces Metal B from its solution, then Metal A .

Aue 1B£fgaarﬁa=:=rﬂ%%mm%

Question 1D : 9864493612
Status : Answered
Chosen Option ;3

~
is less reactive than B

zBaﬁTgmﬁﬂﬁT%

is heavier than B

B & gerem # 30 sfafkanie &
is more reactive than B

. B # @ W THEAA & AR &
has the same reactivity as B

x

v

X




CLED i Frasdr Fr uftm T A Al F A T | A oE S A A e : )
&0 & AT e ¥ af A i v e e e A e it I ID:SHE i
ot Tl A AT AT B A T Status - Answered

Chosen Option -1
Sita’s bucket has thrice the capacity as Ramu's bucket . It takes 60 tums for Sita®s bucket i

to il the empey drum. How many tms it will take for both the buckets of Sita®s and
Bamu’s, having each turn together to fill the empty drum?

Ans }(1 30
X 250
X340
v i 45

Qi frmmor s d et srfoem A 7 ; :
w B/ e g B Question |D ;9864494127

Status : Answered
Chosen Option : 1

afg X + sfagm, vwr it fase & afteew 50 3 oo e & Taew &
I s 3w W

LoD

1. FEaT ghagre T s F dhEw w25 1
2. 3% wrar A 30 ¥F T g

Consider the given question and decide which of the following statements is sufficient 1o
answer the quéestion

1f X scored an average of 50 marks in History, Language and Science, how mach did he
acore in Science?

Statements:

1. His average score in History and Language is 25,
2. He got 30 marks in Language.

Ans  OC 4
a1 & w1 H A I 2 I F W = 5T & A wE R
Weither 1 mor 2 is sufficient to answer the given question.
F
FUA 2 HE I IV F A F IR R F weR § g o 1 e @
IO & 99 T Ieaq &4 & e A A
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
73
Fua 1 T FuF 2 O &1 I F F T IeaT &4 F FTEH
Both 1 and 2 are sufficient to answer the given question.
v
FuA 1 ¥ f IR F A W S & # veW 0 e 2 wEE i

I & W3 W 3o & # meE a7 A
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.62 Pr=faflm &0 #, N [eg(7) 280 DT 7T 38N, UF e SN #

T T frwesl # R AR FET H OO #) Question 10 : 9864494296

Status - Answered
Chosen Option 1

N, L J H?

In the following series, one letter is missing as shown by the question mark (7). Select the
missing better from the given options.

N, L, L H?

Ans J-| F
X2B

?‘( 3
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QB3 Aand BT A 2R A @R e S AR T WA &§ F0
femt ops @ oYEAT @ M T FWOT ¥ W O A 16 B W
oy R A 30 T & 21 BF # 90 F A6 § A T 6 TR g d
e fem o A Gt W we T A

Question 1D : 9864492889
Status - Not Answered
Chosen Option © —

A ond B can complete a task in 12 days. However, A had to leave a few days before the
task was completed and hence it tock 16 days i all to complete the task. If A alene could
complete the work in 21 days, hew many days before e work getting over did A leave?

Ans ¥1?
X229
X35
X4+3

W Atq g # Aa-Rar F dererE @ 8-
In sexual reproduction a parent contributes:

Question 1D : 9864493518
Status : Answered
Chosen Option 2

o 1mma:rw:ffﬂ1é%m

. One-fourth of their genes

x 2 |y S
All the genes

3 U e @ A s e
Three-fourth of their genes

v 9 Sw & T ffEar
Half of their genes

Qs war R FE AR T T T R F R S w A W
Pread Riffoy ¥ & P S w1

Question 1D ;9864494117
Status : Answered
Chosen Option : 3

T
mi o O B ot o gl F

foremd

1. o wefr arsr &
2. 3o orw W )

Consider the given statements true and decide which of the given conclusions can
definitely be dravwn from the given statements,

Statements:
Some eagles are kites. All kites are birds.

Conclusions:

1. Some birds are eagles,
2. Some eagles are birds,

e wmwzmmﬁl
Only conclusion 2 follows.
| fosd 1 @ 2 et s w1

Both 1 and 2 follow.
p
ar &t fswd 1 s A & e 2 e F E

x

Ne'-ther 1 nor 2 fbl]ﬂ“’s- Latest Sarkari Jobs, Govt Exam Resullts, m
Vacancies and updates on one click




, s fornd 1 smpeor e 2

Only conclusion 1 follows.

X

Q.66 Fzw zmm 7w & Fowlafm amansd & & B sfren Bea amm ar?
Which of the following branches of mathematics was invented by Newton?

Ans IOTAT

Question 1D ;9864493599
Status - Answered

Chosen Option ; 2

1 Calculus
X 2 i
Logic
sarfaf
Geometry
#rsrerioTa
Algebra

3

74

Q87 Fiar gaor A wiAfEfas TaE F & F R FO JE
The centre of the reflecting surface of a spherical mirror is called the:

Ans FlHT

Question |D : 9864493283
Status : Answered
Chosen Option -1

751
focus

v, TED
pole

B

radius

x , ol & Fg

centre of curvature

753

Q.88 Prafafas & &SI 1 FU= TURT F1 & fore 7erd gem?
Which one of the following statements would be INCORRECT to use?

Ans we iR T Te AT

CQuestion |0 : 9864493147
Status : Answered
Chosen Option 3

v
An atom of a compound

Ueh e ahl Teh 9I{ATUT
2

An atom of an element
X3 s TiFF FT T A

A mole of a compound
X 4 Uk ded &1 Tk Aol

A mole of an element

Question 10 : 9864492099
Status : Answered
Chosen Option 31

Q.69 areg e & HEw w9 & e, fEn, w=E A e Ee
The architecture mainly consists Chaityas, Viharas, Stupas and Stambhas.
Ans T‘[‘g’
r G0
Mughal

K-?%q
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CIr:4
Buddhist
At
Maurya

W:

4

Q.Tﬂﬂiﬁ&ﬁﬂnﬁﬁttwﬂmm“ﬁrm#mﬁgﬁ'm
AT (USA) & ®iF ¥ Tnafemmem # 700w =0 & Taea & Wieee & #9
& FHET FHET §

Adber s stint as the Reserve Bank Governor, which Universaty in USA did Raghuram

Cuestion 1D ;9864492264
Status : Answered
Chosen Option - 4

Rajan joan as professor of Finance?

An x1ﬁéﬁmﬁm;q§r,ﬂ3%

Columbia Business School, New York
Berkeley Haas, California

v U T, R

i Booth School, Chicago

, TS Remw wge, dwes
Harvard Business School. Boston

X

X

Q71 Yy gow dfefiala SR(Ead 2018 0F) & W &4 g7
Whao is the captain of the Indian men’s volleyball team as of February 20187

Ans Hfﬁﬂﬁ ﬁﬁﬁ

Cuestion 1D : 9864492390
Status - Answered
Chosen Option : 3

X1
Navjit Singh
x , O.3R.AWG
GR Vaishnav

W gﬂa'\r ﬁlﬂ'
Gurinder Singh
maiaaqg?m*\r

K Udayakumar

Q72 T T g W,
60 +5x%x(16—-8+2)+3=2
Solve the following:

60+5x%x(16—8+2)+3=?
L

1
X2§
W48
X4

Question 1D : 9864492739
Status : Not Answered
Chosen Option ; =

QT3

Latest Sarkari Jobs, Govt Exam Resullts,
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CQuestion 1D 19864494285
Status : Not Answered

| knowwors [ OPHON




frafafEm way = 2w & B 3ges 39 3w = 939 w50

we, R A Fe
Select the most suitable Venn diagram to represent the following relationship.

India, Maharashtra and Kerala

Ans x.‘.

QT4 40 e gred T & Ay, Fea 6 2 @ fw aqom s s anfye Question ID - 9864492622

To get number 40,the number 6 > should be multiplied with Status : Not Answered
Chosen Option : -
Ans 5
X132
7

3
XEE;
= 3
W 7?

3
X4.?;

Q.75 & o gft @ g gEat & o S wor & A (Rl ) wm g 7
What is ihe angle between the two hands of a clock when the time shown by the clock is § Question 1D : 9864492434

p-m Win degress) Status : Not Answered
Ans ?f1- 60 Chosen Option © -

o 2 120
25350

X 4. 240
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